2’ 20GA. STRUTS
ATTACHED W/ (2> 1/4* x 3/4*

3’ 20GA, STRUT ATTACHED
W/ @ 1/4* x 3/4*

|

3 x 20 GA. STRUT

16 O L S e —& ==\ HEX HEAD SCREWS AT HEX HEAD SCREWS AT
ATTACHED W/ 1/4" x = ——)\  EACH END STILE s 208A STRUTS EACH CENTER STILE 24 GA SKIN
3747 HEX HERD Bi%i“g L © 0] — ATTACHED W/ (2 1/4* x 3/4°
= HEX HEAD SCREWS AT
EACH CENTER STILE
2% NYLOM ROk 2 ADJUSTABLE ROLLER CARRIER 14GA. DURASAFE
4 TACHED W/ (@) 174" x 1/2° CENTER HINGE ATTACHED -
~— BOLT & NUT PER BRACKET W/ (4) 1/4" x 3/4* —
HEX HEAD SCREWS o 20 GA. STRUT
TYPICAL TOP FIXTURES @ x S
N.T.S.
SPLICE TRACKS AT THIS LOCATION
35+ MAX. SECTION HEIGHT TYPICAL DURASAFE CENTER HINGE, - W/ (4) 1/47-20 TRACK SPLICE BOLTS & NUTS _
5 N.T.S. SECURE TO JAMB WITH (3) 5/16” DIA. x 1-5/8"
- LAG BOLTS
END_HINGE
14 GA,
s (1) 5/16" DIA. x 1—~5/8"
. LAG BOLT ATTACHED TO JAMB
945’ x 20 GA. STRUT  (spLice AT EA. JAMB BRACKET
82
12 GA. GALV. STEEL
JAMB BRACKETS

l /’\(_ HOLES FOR STRUT -
STILE STIFFENERS (1> ATTACHMENT

35 LOCATED IN HINGE HOLECS> (STRUT NOT SHOWN
ON TOP SECTION ONLY \FOR CLARITY>

S8’

EMBOSSMENTS NOT. ¢ 61%4°
SHOWN FOR CLARITY § : ()

ATTACHED W/ (1) 1/4°-20
. TRACK SPLICE BOLT & NUT
2 x 20 GA. STRUT OR (2) RIVETS

END HINGE
14 GA. 34*

4l

107

3’ 20GA, STRUT

ATTACHED W/ (2 1/4° x 3/4"
HEX HEAD SCREWS AT

- EACH CENTER STILE

TYPICAL STILE STIFFENER 5 ]
N.T.S.

3’ x 20 GA. STRUT s
TRACK CONFIGURATION FOR 8 TALL DOORS

N.T.S.

t—STRUT SPACING

ALL TRACK ATTACHMENTS +/— 2
WITH SYP OR SPF NO. 2 OR BETTER

9'-07 MAX 1 3* 20GA. STRUTS :
BOTTOM BRACKET
ATTACHED W/
INSIDE ELEVATION iCHED W8 ATTACHED
NS HEAD SCREVS WO GhAS Skt
REV | DESCRIPTION OF REVISIONS DATE BY
2’ 20GA. STRUTS
ATTACHED W/ (@) 1/4° x 3/4° BOTTOM BRACKET CONT. STEEL RETAINER
HEX HEAD SCREWS AT 14 GA DURASAFE 13 GA. THICK ATTACHED W/ CONT. BTM SEAL
EACH END STILE END HINGE ATTACHED W/ 1/4° X 3/4° ‘ MAX SIZE =
HEX HEAD SCREVS HEX HEAD SCREWS SECTION A—A (SIDE_VIEW) , ; o~ e,
N.TS. 9 x 14 38 YN N
14GA, DURASAFE DESIGN LOADS| 88 = e 0F TE =
ROLLER CARRIERS ATTACHED +22.8 PSF | 54 Prlaceerirees *4 g
3° 20GA, STRUTS ATTACHED TO END STILE W/ (2 1/4* x 3/4* 2° NYLON ROLLER ~26.9 PSF a2 o i; 2
W/ @) 174 x 3/47 HEX HEAD SCREWS PER CARRIER W/5" STEM ) =E Y 2
HEX HEAD SCREWS AT £ , g
EACH END STILE TYPICAL BOTTOM BRACKET/ 4 TEST LOADS | =& s
N.T.S. (1.5 x DESIGN LOADS) g < .
6'/ 5mrl.sl:m ROLLER INTERIOR OF GARAGE +342 PSF | B0 (L/l;
—=]  MAX. WDTH 90  |~— ~40.4 PSF EE ¥ =
[
DURASAFE_END HINGE @ 53 3
NTS vesion Lo [TTTTTTTTTT] g5 =
2 X 8 SYP OR SPF 1928 BT See NOTE 2 5§ 9
3 3/4° MIN. (NO. 2 OR BETTER) £ 3
T SIDEROOM l— (1) 5/16" DIA. x 1-5/8" 0
LAG BOLT ATTACHED TO JAMB DPTIONAL STOP
/_ AT EA. JAMB BRACKET MOLDING
L 20 GA CENTER STILE a] ,
x4 / \ / THE METHOD OF TESTING WAS IN SUBSTANTIAL SPECIFICATIONS AND_NOTES
. 74 ol / , CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM 1, AL THE LOAD FRON THE DOOR 1S TUNSFERRED 10 THE VERTCAL TRACK, 165 CARRIAGE COURT WINSTON-SALEM. NG 27109
! E330 AND DASMA 108. THE PRESSURES SHOWN ON THE THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD MODEL 5 O O
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH TRANSFERRED FROM THE DOOR. -
20 GA GALV. STEEL 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
END STILE 7/16" DIA. BOLT RETAINER THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN +102.6 LBS/FT & -121.1 LBS/FT
(1) PER ROLLER THE END ZONE, ROOF AT ANY SLOPE, AND i=1.0): 2Ng?3§.?ﬁ% Fmﬁ\?r’:inv:%osaiso?zlgﬁgé#ﬁgFS:;:JA};ED CLAS SICA 1 O O O s 2 O 0 O
1/4-20 x 5/8°TRACK .
WIND SPEED (MPH 121 109 04 99 95 X G . (022" Fi GH
SPLICE BOLT AND NUT 2" GALV. STEEL TRACK. PSS E LE(VEL ) = 5 ! . - - COMMERAL Quaiiy - OF 24 OA M. (022) ROLLED FORMED LGHT g T ooy Y RIR| DNTE11/25/13 ORAMNG NUVBER
TRACK MOUNTING DETAIL ; ; . ; ; B A REQSTRED, PROFESSIONAL ENGNEER FOR WIND LOADS B[ checken g DATE IRC-5309-120-15
N.T.S. MEAN ROOF HEIGHT 30 15 25 15 25 INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
SHEET 1 OF 2




DOOR HEIGHT

N

VERTICAL LIFT

_ITODS

Py

HIGH LIFT

Ell

13

STANDARD LIFT

Section Center Stile Location | Max Design Loads
(Measured from Left Allowed
Width 1st 2st Positive | Negitive
(ft) (in) (in) (PSF) (PSF)
6'0 24.644 47.3565 34.0 40.1
70 290.144 54.857 29.2 34.4-
72 | 20804 | 56,107 | 285 | 336 L AZING O IO RO CTION
7' 4 30644 57357 278 328 GLAZING MEETS ASTM E 1300-04
re 45.000 27.2 32.1 DearaFrame WINDOW FRAME OPTIONAL Decra INSERTS
78 | 46.000 26.6 31.4 WITH UV PROTECTION WITH UV PROTECTION
7' 10| 47.000 26.1 30.8 K /| / /—mpgéég Py
80 48.000 25.5 30.1 Mr n__—l - ﬁ
82 49.000 25.0 29.5 -
84 | 50.000 245 28.9 N EA%QNEEQ’&%S”{&E R
86 51.000 24.0 28.3 SECTION B—B
88 52.000 23.6 27.8
8 10| 53.000 23.1 27.3
90 54.000 22.8 26.9

A

LOW HEADROOM

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

WOOD JAMB ATTACHMENT TO STRUCTU‘RE

2 X VERT AMB ATTACHMENT wOOD FRAME STRUCTUR

5/16° X 3° LAG SCREWS STARTING 6° FROM ENDS THEN 247 O.C. <1 1/2° EMBEDMENT>

2 X 6 VERTICAL JAMB ATTACHM PSI_CONCRET

HILTI KWIK BOLT 3/8° X 4° STARTING 6° FROM ENDS THEN 24‘ 0O.C. <2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8‘ X 2-3/4° STARTING 6 FROM ENDS THEN 24° OC. <1 1/4 EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT> 3/8° X 4’ STARTING 6° FROM ENDS THEN 24’ 0O.C. <2 1/2* EMBEDMENT>
2 X 6 VERTI MB. ATTACHMENT T W _C-90 OCK

SIMPSON 1/4“ X 3° TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS

(3 APART) AT 24 OC. {1 1/2° EMBEDMENT)

HILTI 174 X 2-3/4" KWIK-CON II+ SCREWS STARTING 6‘ FROM ENDS, USE PAIRS OF

FASTENERS (3’ APART> AT 24‘ OC. <1 174’ EMBEDMENT)

X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK ¢ PSI UT>
HILTI SLEEVE ANCHOR 3/8° X 2-3/4‘ STARTING 6‘ FROM ENDS THEN 24‘ OC. (1 1/4°
EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
\ Y \

*PREPARATION OF WOOD JAMBS BY OTHERS
\
WOOD CONCRETE HOLLOW BLOCK
STRUCTURE ¥ STRUCTURE % STRUCTURE % g?gﬁg%ﬂémf%
\ \ \ H \
.l_.l\j L I L I.__J:I
172* MIN \ 2-3/4" MIN 1-172* |MIN 4

2X6 JAMB
TYP,

EMBEDMENT

3* MIN

39.054*

(GLASS)

21.625*
(GLASS)

GLAZING FASTENER DETAIL

N.T.S.

REV | DESCRIPTION OF REVISIONS

DATE  [BY

MAX SIZE

9 x 14°
DESIGN LOADS

+22.8 PSF

—26.9 PSF

TEST LOADS
(1.5 x DESIGN LOADS)

+34.2 PSF
—40.4 PSF

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

5921-G W. Friendly Ave., Greensboro, NC 27410

Amary

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

MODEL #500
CLASSICA 1000, 2000

SIZE| DRAWN BY

RLR

DATE 11/25/13

DRAWING NUMBER

B[ cuecken gy

DATE

IRC-5309-120-15

SHEET 2 OF 2




